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30197622 Pounp A-4 /xerox/ PLUZ huin 1900 66.5 35
39263200 qpuukiywlughl ghpp /92 phpp/ PLUZ hwwn 500 2.5 5
30192160 ouiphfu PLUZ hwwn 250 2.5 10
30234300 Junwpl ujwyjupwly PLUZ hun 100 4.0 40
22811170 hznuﬁxhph PR RPLUZ huwn 100 2.0 20
22851200 PHpwwywbwl hngquud PLU2 hwwn 150 3.0 20
30197233 PRRwwwbwuy ph[hpm{ PLUZ hwuwn 80 24 30
30197231 PIpwwwhwlw $uy PLUZ unuth 1000 5.0 5
30197232 PRRPwywhwl wpwqulup PLUZ hwwn 80 3.6 45
30197232 PPwywbwl wpuquiljup/ goibiunjnp/ PLU2 hwun 170 34 20
30197233 Ppwwwhwl nkghuwnp /EpYonuljwish / PLUZ hunn 800 4.0 5
30192137 Uwunpun /hwuwpuly/ PLUZ huin 70 0.7 10
30197100 | Ywphsh Ubinunwiwpk Juukp /dhohty/ PCU2 nnuth 100 2.0 20
30192128 qphs /qunhluynp/ PLUZ hun 150 7S 50
35821400 npny POUZ huin 2500 5.0 2
30141210 hwioyhs Ubpbina 20U hun 2200 2.2 1
24911200 unuhtid /Bdnyuhuw/ PLUZ huwn 200 1:2 6
30192730 Puthwiighly Yujsnil uqd ROUZ hutn 100 20 20
22811120 npwdwplnuihb kjph opgkp PLUZ hunn 5 0,5 100
22811120 Rpuwdwpynuyhi dnunph oppkp PLUZ hunn S 6.0 1200
30197332 Yuphs/udhoht/ PLUL huwin 1800 18 1
30234640 $1k2 hhonympynits 16 gp PLUZ hunn 10000 10.0 1
30197330 nuiljhs /Eplne whigpm)/ PLUZ hun 1500 3.0 2
30197330 quiljhs /Ephm whgpny/ PLUZ, hwwn 1700 1.7 1
30199231 budwhh Spwp dhohia swithuh PLU2 huwn 20 1.0 50
30199232 Opuwip, Ukd A4 $npdunnh hwdwp PCUZ |  humn 50 o I -3 AN




30192710 Unubdundwinpn gpuiukbyuluhi PLUZ hunn 180 0.9 5
30192720 Qwiliph Auplkp/ PLUL hunn 200 1.0 5
30192135 | Qpudhunk Uhgniy dwinpwinh hwdwp PLUZ hun 80 0.4 5
30192136 Uuwnnhun gpubhnk hontlng AOUZ huitn 250 0.750 3
30192700 | Lwhnl nighny, gdwpwdwimuitpny PLUZ huwn 70 0.350 5
30192100 (Fanht hwuwpul dhohti swhuh . PCUZ hun 100 0.6 6
30192760 Uphy POUZ hun 250 1.0 4
punudkip 150.0
Spwbuynpuugh ynpkp
09132200 Pllght / nkqnuyup/ ROUL {hwp 370 148.0 400
09132200 PElught / nkgnuyjyup/ PLUZ 1hup 345 138.0 400
09132200 £Eught / nkgnijyup/ PCUZ 1hwp e 314.0 -
09121700 Phwlul qugq £OUL Judd 180 300.0 1666
punudkip 900.0
Utptlwbkph pipwghy inpngnud
Uy pulp
42121530 Utpklwtbph swpdhgbibph dwubp b PLUZ npud 150000 150.0 -
yuwpuqubkp
pugudkip 150000 150.0
Uy pulip
45461100 Chtwiynp gnuquyknwpuih FCUZ npud - 169.0 -
pupwghl tnpnquwh hwdwp
31512210 Lwdy niwnkuny PLCUZ npud 2200 8.8 4
31512210 Lwdy wnuthuily PLULZ npud 3 1.2 400
31512210 Ludy 200ywn PCUZ npud 300 0,9 3
42130000 dnpuily PLUZ npud 16100 16,1 1
31221200 Jupnuly PLUZ npud 800 4,0 5
plugudkip 200000 200.0 --
Hwpswlwb vwppunnpmyukp
16311400 nunhtdhy dkpkiw PLUZ npud 140000 140.0 1
30237100 Zmdmllmpqhz PLULZ npud - 660.0 -
punudkip 800000 800.0
Stunkuwlwl b uwbhhghbuhl tynipknp
39812600 Uhnnwhwiths dwppnn dhong PLUZ hun 400 1.6 4
39831280 Uwwhh jJubugm hkgouy 1y PLUZ huin 1800 1.8 1
39812100 Zuwnnwl dwppnn hkgnuly 2 PLUZ huwwn 2500 2.5 1
39812410 Ywhniph thuy kgiing vheng 0.5 ¢ PLUZ hun 2600 2.6 1
39812600 Uwwuph jJugduib hknnily PLUZ hwwn 500 2.0 4
39811300 Zmnwqkpédnn vheng PLUZ hunn 500 1.0 2
39831272 Uwynitig wihuk jJuwbuym PLUZ hunn 100 0.5 5
39800000 Zunnwl dwppkint gnpéwsp PLUZ hwwn 600 18 3
/uyn hdbkpuyhty
39221470 Udty PLCUZ hwwn 900 18 2
39221140 Unip&h pudwljukp PLUZ untth 5000 5.0 1
39221140 @hjh pudwljukp PLUZ wuintth 7000 7.0 1
39513200 Udknnghljukp /Eplokpun/ PLCUZ hwwn 240 24 10
Cunudkup 30.0
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uywuwphuwh J&wp
76130000 Fuquuuyyuedwh huwdwlwpgh PLUZ npud s 28.790 =
uyuwuwpldwi J&wp
22211100 << Upnnwljuipg>>phpph PLULZ hunn 48 6.720 140
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hudwhwpgh uywuwpldwi J&wp
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Swownipinih
64211130 Poouyhtt hkpwuinuwluyh PLUZ npud = 100.0 -
Swnuwnipinih
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39220000 Uykplikp /qmunuiptuly roUZ | npud - 600.0
Yuitnutig uhy. opyu wnphy/
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15113100 Uhu Jungh PCUZ | Yq 2700 27.0 10
39293200 Ounykthn fig eCUZ | Zunn 6000 42,0 7
15612500 Phujwdp eouz | Zunn 10000 10.0 1
15131100 Bpohly ecus | Yq 6000 3.0 0.5
15131100 Puunnipiw eeue | Ugq 10000 5.0 0.5
15131410 Fnquiynifun eeuZ | ‘Y4q 6000 3.0 0.5
15930000 Coduyuyy ecus | Zunn 1500 3.0 2
15911300 Ynbyul PCUZ Zunn 3500 10.5 3
15540000 Nwithp eeus | Yq 4000 4.0 1
41100000 Qbpunily eCUS | Zunn 250 1.54.0 6
15321000 Plwluh hynip PELLE P ek 800 5.4 5
15930000 Qhish PCUZ | Zunn 2700 3.0 2
15331166 Qwpniig PO L ug 1500 3.0 2
15331139 Inghl eous | g 1500 3.0 2
15332160 Puliub eCuZ | Ygq 1000 2.0 2
15332191 Lwiphii eCUZ | Uq 800 2.0 2.5
15871110 Lnin eeuz | 4gq 1000 2.0 2
15621200 Tvunny eous | Yq 1000 2.0 2
15861120 Iidnp eeuz | B ACN gDy
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44110000 N hkphkhught lunnnquy PE- PLUZ ! Ukwnp 1320 0,660 0,5
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42141170 Uhémdmiﬁh génﬁgﬁi 75-63 PLUZ hunn 6270 6,270 1
© 42141170 Ygnpnhs 110°110 PCUL hun 15764 63,057 4
44110000 Nnjhkph) Ehught lunnuijwy PE- PLUZ Ubwnp 2779.0 2779.0 1
100, d-110
Gunul shwbinhuwgnn Sdwifuu
99000000 whiunuwpd ; npud 1000.0
punulkip 3300.0
Opwgqph winfwbinudp Uy Yunnygiknph
2htwpwpmpymi
Pudht 04 lunwlp 03 quu 02 l
Uphuunwiip
44161110 quqh$hljugnud PLUZ npud 950.0
plunudkip 950.0
Unwgph wijwbnuip Uudwyin-plnniiym Swdlh
YEpwhnpngnud
Pudhli 04 funulp 05 nuu 01 j
Ughuunnwtip ]
44112370 Zunfuybipuyht thagnglibph PCUL, l npund 950.0
YEpwhinpngnud
45231187 Uudwjnuwyuinnud POUZ | npund 990,0
71241200 Lwhiuigdw-hbnugnnulut PLUZ I npun 100,0
wohmnwbipibp
Uy puibp [
09134200 thabught Juink hp /wdwnughiy/ PLUZ ’ 1hwp = 400.0 -
09121700 Puwlul quq POUZ | Jud 180 600.0 3333 |
plinudkip 3040.0
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45000000 huwunwnmpyut YEpwhnpngnud RCUZ npwd o 89.7 2
43411400 gkuktun wnpunjuig RFCUZ | wnbbw 6400 12.8 0.2
44111700 uwihly RCUZ | pu 4900 22838 46.69
24910000 Unuhtid uuyhhh K-18 POUZ | hunn 5300 15.9 3
24910000 Unuhbid uujhljh 254q ok4 RCUZ | hunn 2100 315 15
4500000 Pwgnily udkh roUZ | hunn 150 0.6 4
4500000 quunhplu RCUZ | hunn 1100 4.4 4
43411400 8kuklun U-400 PCUZ wnbig 6000 12.0 0.2
24910000 Unuhbid uwhhh AU | hun 2100 6.3 3
4500000 Unthawpkq RRs 125 PLUZ hwwn 1450 2.9 2
4500000 Unthiupkq Ynip PLUZ hunn 1500 3.0 2
4500000 Gupnn ujujwowl PLUZ hun 600 6.0 1
44192700 Ukpl PLUZ hunn 3400 10.2 3
44830000 Lnishy PCUZ | hunn 1100 33 3
4500000 Funquitiuly PLUZ hunn 650 13 2
4500000 | OinphYy ACUZ hun 1600 3.2 2
44111700 | uwjhly roU2 | pu 46.69 73.5 15
pununfkip -- [ npud -- 500,0 -
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U wwhwwimuf
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Opwgph wijuwinudp  Jupswljut pmgkh npud 1351.7
wwhniuwnuht $ntin
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plunudkip npud 1351.7
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Pwdhu 11 junwip 01 guu 02
punudkup npud 2610,0
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